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A= /2 x ( 2.000 + 1.980 ) x 0.220 = 0.4378
A, = /2 x ( 0.820 + 0.600 ) x 0.037 = 0. 0263
A3 = 0.943 x 0.600 = 0. 5658
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i # E K
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2000
1980 20

22
220

:
H

1200
®@

943

600




LI 72 NI

Wr m fH

A, = 1/2
A, = 1/2
A3 = 0.982

f #e &

L =«

0.982

X (

X (

X

C o @M O )

2.000 + 1.980 ) x 0.220
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A3 = 1.319 x 0.600 = 0.7914

A= 12555
i # E K
L = ( 1.319 + 0.116 + 0.590 ) x 2+ 0.220 + 0.221 = 4.491
2000
1980 20

& e
22 T
22

37 y

1576
®@

1319

600




Wr B R S ik
( T A/VEH @ )

Wr T
A = 1/2 x ( 2.000 + 1.980 ) x 0.220 = 0.4378
A, = /2 x ( 0.820 + 0.220 ) x 0.100 = 0. 0520
A, = 0.220 x 0.826 = 0. 1817
A, = 1/2 x ( 0.220 + 0.600 ) x 0.250 = 0.1025
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A= /2 x ( 2.000 + 1.980 ) x 0.220 = 0.4378
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1. 2665 X
/2 x
/2 x
/2 x
/2 x
/2 x

0.8880 Xx

G2 #7

/2 x
/2 x
/2 x
/2 x
/2 x
1. 2555 X
/2 x
/2 x
/2 x
/2 x
/2 x

0. 8880 X

( 1.0299
( 1.0533
( 0.8624
( 0.8860
( 0.9086
0. 350
( 1.25565
( 0.9086
( 0.9240
( 0.9319
( 1.3281

0. 700

( 1.0299
( 1.0533
( 0.8624
( 0.8860
( 0.9086
0. 350
( 1.2555
( 0.9086
( 0.9240
( 0.9319
( 1.3281

0.700

0 .k = 50

+ 1.05633 )
+ 0.8624 )
+ 0.8860 )
+ 0.9086 )

+ 1.2565 )

+ 0.9086 )
+0.9240 )
+ 0.9319 )
+ 1.3281 )

+ 1.3299 )

+ 1.05633 )
+ 0.8624 )
+ 0.8860 )
+ 0.9086 )

+ 1.2565 )

+ 0.9086 )
+0.9240 )
+ 0.9319 )
+ 1.3281 )

+ 1.3299 )

N/mm?

1. 000
3. 900
4. 050
4.510

0.190

0.190
4.510
4. 050
3. 900

0. 300

1. 000
3.900
4. 050
4.510

0. 190

0. 190
4.510
4. 050
3.900

0. 300

) EMTIARYTZD

1.042

3. 736

3. 541

4. 047

0. 206

0. 439

0. 206

4.133

3.758

4. 407

0.399

0.622

2V

26. 536

1. 042

3.736

3. 541

4. 047

0. 206

0. 439

0. 206

4.133

3. 758

4. 407

0. 399

0. 622

2V

26. 536



1.2

(1)

L

Ly, =

W=

(2)

L =

W =

W=

+

+ + o+ +

T AT E R

Gl #f7

8. 950
1/2
1/2
1/2

9. 750
1/2
1/2

1. 25565
1/2
1/2

8. 950
1/2
1/2
1/2

0. 8880

20.794 X

+ o+

+ + o+ +

G2 A7

8. 950
1/2
1/2
1/2

9. 750
1/2
1/2

1. 25565
1/2
1/2

8. 950
1/2
1/2
1/2

0. 8880

20.794 X

X X X B

X X X X X B

X X X B

1

(
(
(

(
(

(
(

(
(
(

(
(
(

(
(

(
(

(
(
(

Ny

1.0299 + 1.0533
1.0533 + 0.8624
0.8624 + 0.8860

Ny

0.8860 +
0.9086 +

0. 350

0.
1.

1.2555 + 0.
0.9086 + O.

Ny

0.9240 +
0.9319 +
1.3281 + 1.

0. 700

} X

0.
1.

+ 22.575 X

Ny

1.0299 + 1.
1.0533 + 0.
0.8624 + 0.

Ny

0.8860 +
0.9086 +

0. 350

0.
1.

1.2555 + 0.
0.9086 + O.

N3

0.9240 +
0.9319 + 1.
1.3281 +

0.700

} X

0.

1.

+ 22.575 X

1
9086
2555

9086
9240

1
9319
3281
3299

2.5

1 +

0533
8624
8860

1
9086
2555

9086
9240

1
9319
3281
3299

2.5

Tay s
) X 1.000
) X 3.900
) X 4.050

A=Y
) X 4.510
) X 0.190

0. 190
4.510

X X

Ty
) X 4.050
) X 3.900
) X 0.300

22.964 X

Ty
) X 1.000
) X 3.900
) X 4.050

A=Y
) X 4.510
) X 0.190

X

0. 190
4.510

X

Tay s
) X 4.050
) X 3.900
) X 0.300

1+ 22.964 X

1

2.5

2.5

2.5

2.5

20. 794

22.575

22. 964

66. 333

20. 794

22.575

22.964

66. 333

/7y

/7y

/Ty

/7y

/7y

/7y



1.3 A P
a. A A

(1) 61 #r
A = 1/2
A, = 1/2
A, = 1/2
A, = 1/2
As = 1/2
As = 4.491
A, = 1/2
Ay = 1/2
Ay = 1/2
Ay = 1/2
A, = 1/2
A, = 2. 960

(2) G2 #r
A = 1/2
A, = 1/2
A = 1/2
A, = 1/2
Ay = 1/2
Ay = 4. 491
A = 1/2
Ay = 1/2
Ay = 1/2
Ay = 1/2
Ay = 1/2
A, = 2. 960

3.739

3. 817

4.473

4. 687

4.893

0. 350

4. 491

4.893

5.033

5. 105

4.733

0. 700

3.739

3.817

4.473

4. 687

4. 893

0. 350

4. 491

4. 893

5.033

5.105

4.733

0.700

. 817

LA473

. 687

. 893

. 491

. 893

. 033

. 105

. 733

. 739

. 817

L 473

. 687

. 893

. 491

. 893

. 033

. 105

L1733

. 739

. 000

.900

. 050

.510

. 190

. 190

.510

. 050

.900

. 300

. 000

. 900

. 050

.510

. 190

. 190

.510

. 050

. 900

. 300

= 3.778 m’
= 16.166
= 18.549
= 21.603 o’
= 0. 891 m’
= 1.572 m’
= 0. 891 m’
= 22.383 o’
= 20.529 o’
= 19.184
= 1.421 m’
= 2.072 m’
A 129.039 m?
= 3. 778 m
= 16.166  w’
= 18.549 w’
= 21.603 m?
= 0. 891 m
= 1.572 m
= 0. 891 m
= 22.383 m’
= 20.529 m’
= 19.184 w?
= 1.421 m
= 2.072 m
A = 129.039 m?



b. Ui

(1) Gl #r
A = 1.0299 + 1.3299
(2) G2 #r
A = 1.0299 + 1.3299
C. }E\‘: Hﬁ
(1) Gl #r
A = 0.600 X 27.650
(2) G2 #r

0.600 X 27.650

2. 360

2. 360

16. 590

16. 590

™o

o

™o

o



£35S f5 (. SD345 )

G1#T Go#T
D22 334 334
D19 522 522
D16 1470 1470
D13 2351 2351
D10 14 14
Bt 4691 4691

) RN, Xz 2,
TR OEERT,



1.5

Lp

PCER X v #

109. 692

109. 692

( SWPR7BL 12S12.7 mm

WAL N
L
)RR,

X 9.288

= 4 N

Wo=

9. 288

kg/m )

= kS, ML, — A T U b

X1 2 2 [

109.692 m

1018. 819 kg



1.6

L =

1.7

L =

1.9

L =

vo— A ( 070 mm)

109.692 m

7517}‘ ( ¢ 70 mm)

109.692 m

E & B (125127 m)

BL. M=fa— Mim—2 SRR &1y

FARAHAST T ( 128127 mm)

109.692 m

BOE T ( 12812.7 mm) (

[BELRS

)

R



1.

Ly

L/1

L,

Ly

Ly

11

Gy — A
(1) Gl #r
(Hp RV REMT D)

( 0.600 - O.

(ST ER)

( 0.600 - 0.

GEREES)

( 0.600 - 0

R IRES)

( 2.000 - 0
(2) G2 #7

(Fp AT )

( 0.600 - 0.

(Ui HEAMTER)

( 0.600 - 0

GEREEL)

( 0.600 - 0

(FRARES)

( 2.000 - O.

220

000

. 000

. 000

220

. 000

. 000

000

¢ 55

36

36

. 000

. 000

. 000

1. 000

0. 380

3. 600

3. 600

72.000

2L

. 000

. 000

. 000

1.000

79. 580

0. 380

3. 600

3. 600

72.000

2L

79. 580



(1) Gl #7

= 3 X 2
(2) G2 M1

= 3 X 2
L1300 ARk

(1) Gl Hr

= 0.8860 x 1

(2) G2 #7

= 0.8860 x 1

14 BEREAIEAT A
(1) Gl #7

= 0.8860 x 1

(2) 62 #Hr

= 0.8860 x 1

0.9240 x

0.9240 x

( =K*¥vHk)

0.9240 x

0.9240 x

1

1

1

1

1.810

1.810

1.810

1.810

i



(2).

(3).

(4) .

(5).

(6) .

(7).

(8) .

L TRY FASTK

540 mm X 510 mm X 38 mm

N=2#H#
470 mm X 320 mm X 91 mm

STELEh 7 o b — L&

M42 D (L =860mm) N=3iid

fifi 9| &% 5 (D10 )

D10 X 6.700 m N = 3 f&AT

W=20.56 X 6.700 X 3 = 11.256 Kg

b7 g #4 (RD/Sw )

150 mm X 300 mm X 20 mm N = 3 f&

KEEE)LZ )V ( EIEELZ L )

W=0.630 X 0.480 X 0.058 X 2 = 0.035 m'3

MRk -85 (D 10 )

W={(500 /50+1) X 0.350 + (350 /50+1)

X 0.500 } X 0.560 X 2 = 8.79 kg

T h—HE'NA LI (BEINKEEL XL )

W=(1/4X m© X 0.150 "2 X 0.520 - 1/4 X =«

X 0.042 "2 X 0.420 ) X 3 =0.026 m' 3

TIALA MROREEATFr—/L ([F—HE)

A=1.950 X 0.800 X 1 = 1.560 m 2



P1 %

(1) . ) T ALK

540 mm X 660 mm X 38 mm
470 mm X 370 mm X 91 mm

N =4

(2) . STABLghT > — 4 &

M75D (L =1520mm ) N =4 #i

(3) . ¥ & & (D10 )
D10 X 13.920 m N = 4 f&FT

W=2056 X 13.920 X 4 = 31.181 Kg

(4) . B g 4 (RN F2 )

200 mm X 450 mm X 20 mm N =4 &

(5) . HEELX L ( EBIVKEELZ L)

W=0.630 X 0.530 X 0.056 X 4 = 0.075 m 3

(6 ) . w78 (D 10)
W= {(500 /50+1) X 0.400 + (400 /50 + 1)

X 0.500 } X 0.560 X 4 = 19.94 kg

(7). 7vrh—HENLFL ( BIKEELZIL )
W=(1/4X 7 X 0.175 "2 X 0.850 - 1/4 X =

X 0.075 "2 X 0.750 ) X 4 =0.069 m 3

(8) . =F7AXZA PRUFEWATF rn—/L ([ )

A=1.950 X 1.700 X 1 =3.315m'2



A2 R

(1) . =2 & F &

470 mm X 320 mm X 80 mm N = 2 f&

(2) . STABHghT > I —2EE

F75D (L =1520mm ) N =4 fi

(3) . AL T
& 9mm X 11.310m N =4 K

W=0.499 X 11.310 X 4 = 22.575 kg

(4) . B @t #4 (RO2SyF2)

200 mm X 200 mm X 20 mm N =4 &

(5) . BWEEALX L ( BINEELZL )

W=0.630 X 0.480 X 0.058 X 2 = 0.035 m 3

(6) . w8 (D10 )
W={(500 /50+1) X 0.350 + (350 /50 +1)

X 0.500 } X 0.560 X 2 =18.79 kg

(7). 7rh—fELE)L ((ENHEELZIL )
W=10(1/4X 7 X 0.175 "2 X 0.850 - 1/4 X =

X 0.075 "2 X 0.750 ) X 4 =0.069 m 3

(8) . =T AFZA PROFEWATFr—/L (A& )

A=1.950 X 0.800 X 1 = 1.560 m 2



2.3 MM T
1. AL-P1 (P1-A2) £
Ui 0 HfE
760 760
720 720
I
1
5 ! \ © / ! \ © / ! 5
I I I
1 1 1 ©
2 | | | g o
S 1 1 1 —
(o2} 1 1 1
I I I
1 1 1
(=)
- | | | z
(2]
2
l 1950
'480 - 220 600 2120 600 2120 600
2720 2720
Wr
D 1/2 % ( 0.760 + 0.720 ) x 0.220 0.1628 #r R = 27.650 m
Hr A% = 2 ZS
® 1.200 x 2.720 - 0.1628 - 1.0299 + 1.950 x 0.123 2.3112 A = 90 ° 00 7 00 ”
a = 1.0000000
® 1.576 x 2.720 - 0.1628 - 1.2555 - 2.120 x 0.250 2. 3384
HimihTIE S = 0.800 m i
@ 0.980 x 0.220 - 0.037 x 0.110 x 1/2 0.2136 PREEHES = 0.350 m i




1.1 =7 VU—Fk ( 6 = 30 N/mm® )

vV, = 0.1628 x ( 27.650 - 0.700 ) Xx 1 = 4. 387
vV, = 2.3112 x 0.800 X 1 X 1 = 1. 849
vV, = 2.3384 X 1 X 0.350 X 1 = 0.818
vV, = 0.2136 X% 2 X 0.800 X 1 = 0. 342
Y = 7. 396
1.2
A, = { 0.1628 x 2 X 1. 000
+ 0.720 x ( 27.650 - 0.800 x 1 - 0.350 x 1 - 0.700 ) } x 1 = 18.902
A, = { 2.3112 x 2 + ( 2.120 + 0.123 X 2 ) X 0.800 }
1 X 1 X 1. 000 = 6.515
Ay = ( 2.3384 X 2 + 2.120 x 0.350 ) x 1 X 1 X 1. 000 = 5.419
A, = 0.2136 X% 2 X 2 + ( 0.980 + 0.220 ) x 0.800 x 2 = 2.774

XA = 33.610



1.3 i) ( SD345 )

D16 1432 kg
D13 126 kg
D13 (= EIhnT) 2 kg (164)
& it 1560 kg
A »%— FDI3H 6 7

) REMNE. XimE 22,



1.4

1
SL1
SW1
()
L2
W2
3)
L3
W3

(4)
L
oW

PCEMES  ( SWPRIOL 1528.6 mm , W, = 4.229 kg/m )
¢
L

L : PCEMMY , SMAMASNL , 7T D b

R T R 5D

= (2720 + 0.600 - 0.220 x 2 ) x 1000 x 1

- 2.880 x 4.229

AT R 8D

= ( 2.720 + 0.600 - 0.000 x 2 ) x 1.000 x 6

- 19920 x 4.229

PR KA

= ( 2.720 + 2.000 ) x 1.000 x 36

169.920 x 4.229

%R G
= 2.880 + 19.920 + 169.920

= 12.180 + 84.242 + 718.592

2. 880

12. 180

19. 920

84. 242

169. 920

718.592

192. 720

815.014

kg

kg

kg

kg



1.5

Rk — A

(1) TR TR o0

( ¢45 mm )

L1 = ( 2.120 + 0.015 x 2

(2) oA AR O

L2 = ( 2.120 +

(3) PRI &

0.015 x 2

L3 = ( 0.740 + 0.015 x 2

) X 1.000

) X1

) X 1.000

X

X

X

6

1

1

X

36

2. 150

12. 900

27.720

1.6

777k

L = 192.720 m

1.7

B L

- BE O

N = 1 + 6

SR

N = 36

E A A

( 1S28.6 mm ) (

( 165X 165X32 )

( 125X220%36 )

( 1S28.6 mm )

SFEOUE (165X 165X32 )

N =( 1 + 6 )X 2

B ( 125X220X36 )

N = 36 x 2

1.9

( ¢45mm ¢ 55mm )

h5l&

AL, =27V v 7 XJER, 7V v Rl &1

PR FASE T

L = 192.720 m

e T

A = 55.600 x 5.200

( 1S28.6 mm )

)

2L

42.770

T U=

36—

72

289. 120

7V

7L

ml



2.4 # f5 T
TEAR A
760
720
;
|
1
] ® \ © / @ |
1 1
I I
N 1
(=3 (=)
e - ® ® @ | &
— <f ] 1 —
= I I
1 1
I I
1 1
I I
L ]
=
1950
480 220 600 2120 300
2720
Mig$ = 2 %N BEHTES = 1,700 m 1 »7pr
A M = 90 ° 00 ’ 00 ”
o = 1.0000000
Wr m FE
D 1/2 x ( 0.760 + 0.720 ) x 0.220 = 1628 m
® 1.700 x 2.720 - 0.1628 - 1.3299 + 0.145 x 1.950 = L4141
® 1.480 x 0.600 = . 8880
@ 1.3299 - 0.8880 = . 4419
® 1.3299 - 0.8880 = . 4419
® 1.443 x 0.220 + 1/2 x ( 0.110 + 0.220 ) x 0.037 = . 3236




LUITERZIN

_ 700 200 . 700 R
(]
[aN]
[aN]
=
o~ (=3
B -
750 200_ 750
1700
1. 7 VY—F 0 ok 30 N/mm® )
VI = ( 3.4141 x 1 + 0.3236 x 2 ) x 1.700 = 6.904
V2 = ( 0.1628 x 1 + 0.4419 x 1 + 0.4419 x 1 ) x 1.600 = 1.675
V3 = 0.8880 x 0.200 x 2 = 0.355
SV o= 8.934
1 SV = 8934



2. T M
Al = 3.4141 X 2 X 1 = 6. 828 m’
A2 = 0.3236 X 2 X 2 = 1. 294 m’
A3 ={( 1.480 + 0.220 ) x 1.700 + 0.220 x 1.600 } x 2 = 6.484 m
A o= ( 2,120 + 0.145 x 2 ) x L1.700 x 1 = 4,097 o
YA = 18.703 m’
1 2A = 18. 703 m?
3. % i) (SD345)
D19 = 293.0 kg X 293.0 = 293.0 kg
D16 = 1191.0 kg X 1191.0 = 1191.0 kg
DI3 = 54.0 kg X 54.0 = 54.0 kg
& &t 1538. 0 kg X 1538.0 = 1538.0 kg
4 % — FDI13MH 24 X 24 = 24 r
) FEME. MiEEzE,
4.  PCHiM ( SWPRIOL 1528.6 mm , W, = 4.229 kg/m )
3
] L
L : PCEARS , $AMHASE , 27U b
(1) EERHTRRD (L FrX729)
L1 = ( 2.720 4+ 0.600 - 0.000 X 2 ) X 1. 000 X 12 = 39. 840 m
Wl o= 39.840 X 4.229 = 168. 483 kg
2 =B HDY
1 XL = 1 X 39. 840 = 39. 840 m
1 XZW = 1 X 168. 483 = 168. 483 kg



5. KR — X ( ¢45 mm)
(1) 17FF % b

L = ( 2.120 + 0.015 x 2 ) X 1 X 12
2 &%

2L = 26.800 x 1

0. 7ok ( $45mm ¢ 55mm )

(1 17t 4 Y

L = 39.840 m
2 =2f/m=E0Y
L= 39.840 x 1

7. = aE T ( 1528.6 mm) (  FElx )
1 17974 Y
N = 12

2 =40

N = 12 x 1
8. & A& H (15286 mm)
< B YE (0 165X165X32 )

(1) 17T &H Y
N = 12 x 2
2 &2fFAEY
N = 24 x 1

BL, =7V »7 XEWR, 7'V v Rl %17

25. 800

25. 800

39. 840

m

m

m

12 »r—7n

12 r—7n

24

24



9. HHESZ T ( 1S28.6 mm)
(1 1737 4 Y

L 39. 840 m

2 =480

2L = 39.840 x 1 = 39. 840 m



2.5 i T

ATQD) B

(1) . (i 2

IAhVaAr 60 HEM L =4.000mn

(2) . v—n# « (Uartk)

v

1.700 m X 0.070 m X 0.020 m X 1000 = 2.380 Jyj-

L=1(0.250m+ 0.600 m) X 2f&fF = 1.700 m
(3) . 7Tvh—m
Mo O M Rk )
BOEES  SI D16 X 590 mm N = 16 K
W =1.560 kg/m X 0.590 m X 16 A = 14.726 Kg
Mo O B8 HT )
BOEES  SI D16 X 590 mm N = 4 A&
W =1.560 kg/m X 0.590 m X 4 A = 3.682 Kg
sRZ A~y Ml
BOEES  S2 D16 X 590 mm N = 15 K
W =1.560 kg/m X 0.590 m X 15 A = 13.806 Kg
S3 DI6 X 220 mm N =8 K
W =1.560 kg/m X 0.220 m X 8 A = 2.746 Kg

S4 D16 X 250 mm N =8 &

W =1.560 kg/m X 0.250 m X 8 A = 3.120 Kg

(4) . wHgRAG - @BLA
HOEES D16 X 4000 mm N = 6 A&

W =1.560 kg/m X 4.000 m X 6 A = 37.440 Kg

(5) . ®&¥f=>27Y—1

V =10.150 X 0.500 X 2.000 + 0.110 X 0.350 X 2.000

+0.150 X 0.500 X 2.000 + 0.110 X 0.350 X 2.000

=0.454 m"3



A2 (F)

el
=

(1) . (i 2

TAhVaAr 20 HEM L =4.000mn

(2) . v—n# « (Uartk)

v

1.700 m X 0.070 m X 0.020 m X 1000 = 2.380 Jyj-

L=1(0.250m + 0.600 m ) X 2@fr = 1.700 m

(3) . 7Tvh—m
Moo O M Rk )
HOEES  SI D16 X 590 mm N = 16 A&
W =1.560 kg/m X 0.590 m X 16 A = 14.726 Kg
Mo O OBE HT )
HOEES  SI D16 X 590 mm N =4 A&
W =1.560 kg/m X 0.590 m X 4 A = 3.682 Kg
sRZ A~y Ml
HOEES  S2 D16 X 590 mm N = 15 A&
W =1.560 kg/m X 0.590 m X 15 A = 13.806 Kg
S3 DI6 X 220 mm N =8 K
W =1.560 kg/m X 0.220 m X 8 A = 2.746 Kg
S4 D16 X 250 mm N = 8 A&

W =1.560 kg/m X 0.250 m X 8 A = 3.120 Kg

(4) . fHgRAG - @BLA
HOEES D16 X 4000 mm N = 6 A&

W =1.560 kg/m X 4.000 m X 6 A = 37.440 Kg

(5) . ®%¥f=>27Y—1

V =10.150 X 0.500 X 2.000 + 0.090X 0.350 X 2.000

+0.150 X 0.500 X 2.000 + 0.090 X 0.350 X 2.000

=0.426 m"3



2.6.1 H1 & T

= £ fl
600 600
o I
< e !
Al : j A2 .
3 L1 S o 5L2 S
N Q [
240 240
%O NI EAMEZ <,
W 1
Ay = 0.600 X 0.331 + 0.240 X ( 0.600 - 0.331 ) = 0.2632 m?
Ay = 0.600 X 0.331 + 0.240 X ( 0.600 - 0.331 ) = 0.2632 m?
RS
Ly = o0.600 x 2 - 0.220 + 0.240 = 1.220 m
Ly = 0.600 X 2 - 0.220 + 0.240 = 1.220 m
WER
L, = 55. 500 = 55.500 m
L, = 55. 500 = 55.500 m
#Hb

0 ” «; = 1.0000000



1. 27 U—} (ock= 24 N/mnd)
Vi = 0.2632 X 55.500 -+ 0.2632 X  55.500
2.
Ay = 02632 X 2 +  0.2632 X 2
Ay, = 1,220 x 55500 4+  1.220 X  55.500
3. #k W ( SD345 )
D13 1740 kg
D13 325 kg ( GIMTHRDIAAERAT )
D13 325 kg ( GAHTHRDIA I ERAT )
5 2390 kg
W) R, KEzEsMi,
4., HHIT
VI MR (t = 20 mm )
N = 6 X 2
L = (031 + 0600 -+ 0.600) X 12

29.215 m®

1. 053 m?

135. 420 m®

A

136. 473 m®

12 »pr

18.372 m



2.6.2 HE Kk LT

1. ek ( FC250 ) (W= 72.5 kg/fd)

N = 8 = 8 #
2. HEKE ( VP-150 )

L = 1.700 x 4 + 1.300 x 4 = 12.000 m
3. Hufta B ( 3.04 kg/#l )

w, = 3.04 x 8 = 24.320 kg
4. fHIRI ( D6 17.5 kg/#f )

w = 17.5 x 8 = 140.0 kg



2.6.3 1EZHBIEM T
1 = FH B H B et ( CFE  H=850 A v&fbAE)

L = 5b.612 + b55.612 111. 224 m

(L~ULR A B [X[H])

L = 50.000 + 50.000 100. 000 m

(BUABLA A I X [H)

L = 5.612 + 5.612 11. 224 m



2.6.4

BT

(i}
800
500 300
361
3
N
=
>
a
3
~
[T
(0.500 + 0.800 X 1/2 X 0.200
&
0. 900 + 0.700 + 0.361
ERE~
4

]

300

900

X 0.700

0. 6900

1. 961

m

mz



1 227 U—F (ock= 24 N/mm’

V= 0.6900 X 0.300 x 4
2 A
A= (1961 X 0.300 + 0.6900 x 2 )
3 Bk i (SD345)
D13 76 kg
D13 36 kg CFHBTHL AL $kA)
aEt 112 ke
4 & 4 ( 150X630X15 )
N = 4
5 1B B W ( 200X 300X 13 )
N = 1

)

X

0.828 m’
7.873 o’
4 4



2.7 & T
2.7.1 B &k T

1. HEAKXA T (VP-40)

L, = 2. 250 m/ A n, = 4 EN
L, = 0. 300 m/ A n, = 8 EN
YL = 2250 X 4 4+ 0.300 X 8 = 11.400 m

KBTI
3. F¥ v (AELEEE A~ FHDZ35)

n = 12 ’r

Pl =k

X THFETE

X THFETE



2.7.2 &FEET

L PR EEEIE

t, = 1/2 x ( 81 + 121 ) [A1-P1£%R] = 101 mm
t, = 1/2 x ( 8 + 121 ) [P1-A2£%fH] = 101 mm
ti~e = 1/2 X ( 101 + 101 ) = 101 mm

Pl =k

3. WEa L U—F (ock= 18  N/mrd) (t = 100 - 80 = 21 mm )

V. = 219.200 X 0.021 = 4. 603 m’



